
3P03H3C TaaaHmOneOU XK 
YUnOa3pn3n, meXHUKUUH ea3ap 

XflHACAH: 
3ACBAP,MEXAH~K~~H c;ro­
X3nTC~~H t=\APrA 	 lLMeHXTynra 

60nOBCPyynCAH: 
TeneBnenT~~H MEXAHVIK: I·Worr6aaTap(1t!!I~ 


2021.08.21 

Tocnoroo, nln4V1nr33H~ 	WAAP~nArATA~ MATEPV1AnbIH TEXHV1KV1~H 
TO~OPXO~nOnT 

YH~C3H WAAP~nArA: 

../ 	 3axli1anarYli1A Hli1V1nyyn3x c3n63r, MaTepli1an Hb YV1n~1B3pn3nli1V1H 60nN! MOXtl!Ili1I( $1Map 
H3r3H r3MT3n cororry(./) WVlH3 C3f163f 6aViria . 

../ 	 XaSCpanT 1-T 3aarACaH TOCJlOroOHbl X3P3fCf1li1(./)r 3Ali1C1H Ayraap. T8XHli1KVlVlH 
TOAOPXOlllnOJlTblH Aar'yy, 3aXVlanarYVlll1H rapraCari 3aXVlanrblH, TOO UJVlpX3rT YHA3Cn3H 
HVlll1nyynH3 . 

../ 	 Hli1Vinyyn3ry Hb CaHan 6onro>K 6yi!1 TOC, TocnorooHbl X3p3rcnVli!1H an6ari eCHbl 
60pnyynary 6ai!1Ha. 6aTanraa li1pyyn3x 

../ 	 HVlVinyync3H 6apaa, 6YT33rA3XYYHIt1l~r xyn33>K 8B8X yeA waapAnara X8Hfi3Xry(./), 
TOXHVlKli1V1H TOAOpX0V11l0nTOA 3aacaH Y3yymlnT38C 38pC8H TOXVlOnAOllA TyxaVlH 6apaar 
XY1l33H asax 60nOM>KryVl 60IlHO. 

XABCPA.llT -1. 

N2 C:m6:m'1~H H3p 
C3fl6:m1~H 

Ayraap 
TexHI-1KI-1~H TOAOpxolilflOflT 

Too, 
X3MlK33 

• RfJ 100-d 
• Output 250 cem per 

1. 
WV1lir:.'lH TOCHbl rap Hacoc f 
Aluminium Rotary Pump 

3461034 
revolution 

• For diesel. motor, gearbox 
and hydraulic oils up to 

3w 

SAE 90 81TEJH TOC XV1!11X 

60nOM>KTO!l1 
M10X1 (PU 10) 
Hydraulic safety grip 
mouthpiece safeLOCK .. with 
~lardened 4-Jaws made of tool 

2 

TocnorooHbl xowyy I MATO 
SAFETY HYDRAULIC 

GRIPPING MOUTHPIECE 
SAF[LOCK 

3245504 

steel - Wittl tligh-performance 
tlydraullc seal - with 
integrated linear swivel JOint -
Uncoupling possible up to a 
pressure of over 600 bar ­ no 

10w 

splaslilng away wilen 
uncoupling ., Outside 
diameter according to DIN 
1283 - Connec 

WV1Hr3Ii TOCHbl TOonYYPTali1 with LCD display, swivel JOint. 

3 
xowyy I DIGIMET E35 
manual flow meter with 

3541170 
with spout and gun, -
Measuring range up to 35 I / 

1w 

engine oil drain min 2 coun 

._----_._-"--_ ..," 

Tocno30o. yOfJllun333HO waapdnf:1f,amaO Mamepuonblll fTJeXllUKUCiIi mooopxounonrn 1/2 

http:2021.08.21


3P03H3C TaeaHmonaou XK 
;:_<~"r'C..("'N,F .~~~=:::~;.~~;=" Yunoe3pn3n, mexHuKuuH aa3ap 

ToenorOOHbl x~~HI 
Haeoe 

PNEUMATIC LUBRICATION 

DEVICE PNEUMATO 55 


STATIONARY 


TocnorooHbl rapt 
STANDARD HIGH­

5. PRESSURE GREASE GUN 
WITH LII\JEAR 
SWIVEL JOINT 

Tocnoroollbl IUl3n3HTa~ 
6. 	 xowyyl Grease Nipple 

Selection MAXI 

3410599 

3410803 

3280024 

WITH 10 M HIGH 
PRESSURE HOSE DN6 
</P> FOR 18/20 KG 
GREASE PAIL, INt\IER W 
265·285 MM 
Compressed air unit 
pneuMATO 551:55 - with 10 
m high pressure lubrica 

Steel version, with nozzle 
pipe E4024 R1 /8", 4-jaw 
hydraulic grip mouthpiece, 

con nee 

Assortment MAXI 
440 pcs grease 
composed of 

contains 
nipples, 

H1 80 x M6x1 / SOx M8x1/40 
x M10x1 

H1 40 x R1/8" /10 x R1/4" 
H2 30 x M6x1 / 30 x M8x1 1 

20 x M10x1 /20 x R1/S" 
H3 25 x M6x1 / 25 x M8x1 I 

20 x M10x1/20 x R1/8" 
H2 10 x R1/4" / H3 10 x R1/4" 

I M1 10 x M10x1 

1w 

4w 

1KOM 

Tocno:300, VUnLJUna33HO waaponaaamau MBmepUBf7bIH meX/-IUKUUH mooopxounonm 2/2 


